You should hand me the answers to Lecture 18 right at the beginning of Monday’s lecture (May 9).
 - The answers should be manuscript (not typewritten) and preferably based on schemes (as I do in the whiteboard). Keep a copy for yourself.

Please write Lecture 18 in bold at the beginning of your answers.

Two questions about previous lectures:
1.Minsky: Why do businesses want to fund new investments with a lot of debt during expansions?

2.Harrod: Look again at the graph about the evolution of capacity utilization in the USA. How can we explain the decline in u a few quarters before the onset of recessions?





…

3. a) Harrod’s explanation of the cycle is based on the feed-back relationship between two variables. Which ones?

b) Write the equation according to which I depends on u.

c) Write the equations according to which u depends on I.

4. Suppose that initially u= 65%, GDP = 100€, public debt is 100€, the multiplier is 1.5 and the “net tax rate” (which includes social transfers) is 0.5.

a) Start with a government balanced budget. If in period t the government increases expenditure by 1€, what will happen to output, public deficit, public debt and the debt-to-GDP ratio in period t? Explain.
b) Suppose that I in period t+1 does not react to changes in u in period t (hence It+1 = It). If in period t+1 the government maintains G at the higher level, what will happen to output, public deficit, public debt and the debt-to-GDP ratio in period t+1? Explain.
c) Suppose that I in period t+2 does not react to changes in u in period t+1 (hence It+2 = It+1 = It). If in period t+2 the government maintains G at the higher level, what will happen to output, public deficit, public debt and the debt-to-GDP ratio in period t+2? Explain.
d) Draw a graph with the evolution of output, public deficit, public debt and the debt-to -GDP ratio from t to t+2 (time on the horizontal axis).

5. Continue to suppose that initially u= 65%, GDP = 100€, public debt is 100€, the multiplier is 1.5 and the “net tax rate” (which includes social transfers) is 0.5.

But suppose now that I reacts with a lag to changes in u.
a) Consider again the results you obtained in 4a). If, following the increase in u in period t, I rises by 1€ in period t+1 while the government maintains G at the higher level, what will happen to output, public deficit, public debt and the debt-to-GDP ratio in period t+1? Explain.
b) If, following the increase in u in period t+1, I rises by a further 1€ in period t+2 while the government maintains G at the higher level, what will happen to output, public deficit, public debt and the debt-to-GDP ratio in period t+2? Explain.
c) Draw a graph with the evolution of output, public deficit, public debt and the debt-to -GDP ratio from t to t+2 (time on the horizontal axis).
6. Crucial question. Compare your graphs of 4d) and 5c).
 “Austerity will only contribute to the sustainability of public finances if private I does not react to the state of the economy”. Do you agree? Explain. 
Note: the sustainability of public finances depends critically on the evolution of the debt-to-GDP ratio. 
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7. Suppose u is always equal to 100% and that there’s an unlimited supply of labour. Which are the four factors that influence the growth rate of productive capacity?

In the following questions, assume there’s no capital depreciation, no technological progress and there’s an unlimited supply of labour. Assume also that u = 100%.
8. If Y = K, then a savings rate equal to 10% leads to a growth rate of capital of 10%. Why?

9. If Y = K, a higher proportion of output consisting of investment goods leads to a higher growth rate of capital. Why?

10. If the productivity of capital declines from 1 to 1/2, a savings rate equal to 50% leads to a growth rate of capital of 25% instead of 50%. Why?

11. For a given savings rate, the more productive capital is, the higher is the growth rate of capital. Why?

12. Suppose this year’s GDP growth is equal to 1%.

a) If the growth rate of GDP rises by 50% from this year to the next year, what will be next year’s GDP growth rate? Explain.

a) If the growth rate of GDP rises by 1 percentage point from this year to the next year, what will be next year’s GDP growth rate? Explain.

13. A one percentage point increase in the savings rate may not lead to a one percentage point increase in the growth of capital. Why?

14. A one percentage point increase in the rate of capital depreciation necessarily leads to a one percentage point decrease in the growth of capital. Why?
